| RecoPVAssoc2GenPVMatched_PullX

SSIOCZGenPVMatcﬁec
Std 108 [

[ RecoAllAssoc2GenMatched_PullX

| RecoAllAssoc2GenMatchedMerged_PullX
TETUAT GenMatchedMergkd _|
td Dev 1.05

RECOF] Pu RET soc2GenMatched pulld
Dev 1. td Dev .97 .
= Constant  0.07505 Constant  0.0822 a Constant ~ 0.07734
o, Mean  -0.002737 Mean  -0.001737 O 41
5 10 Sigma _____1019] 0 S A0TEcccttrrttttrrrttumstttt Sigma 0.9674 510
: | Pu coATASSoCZGenMatche ull? q>_) bd_|
- Std Dev 0.9769 o
o Constant Constant 0.0822 o]
= Mean -0.002737 Mean -0.001737 o))
=} 1.01 Sigma 0.9674 6
Q102 e e L O e e £
—
[e]
1=4
X
—
(]
Sl I SN X | R A | | I X R e s T A S A =
10 z
107 . . e .
| L L PR B s | I
9 1.UD! N T N T V T 9 N N N N T
T i | i : ! i g [ i ] i i |
& Il | ¢ AR & F JUAAAE
1 . g4 . 4 b4~ . . . . P
0.95 i 1 i H A 1 0.95L A K ) J 1
= 2 4 6 0 2 4 6 -6 -4 -2 0 2 4 6
X X X
—— DQM_V0001_R000000001__Global_mkFitbase__RECO
RecoPVAssSoC| ———— DQM_V0001_R000000001__Global__mkFit-cand__RECO S—
Std Dev 1.102 Std Dev 0.9735 Std Dev T027 |
> Constant  0.0746 > : : : Constant  0.08313 3 Constant  0.07882
[a 5 1n-1 : : : Mean  -0.002726 ba) Mean 0.003514
5 10 2107 T T T Sigma 0.955 = Sigma 0.9955
> E . . . N : : s
; | Pu a3 r : : : C ssoc2GenMaiched Pull G>) lIAssoc2GenMatchedMerged_|
— Std Dev - r . . . Std Dev 0.9735 b} Std Dev 1.027
o Constant 0.0746 N H . Constant 0.08313 o) Constant
= 04578 o : : : ean -0.002726 o
S 03 : : : Sigma 0.955 5
210 g 1072 £
h 5
>
—
o
-3 5103
--------- S
10 g
......................... I B 10*4 10*4
N N T o v N T W N o+ N N N N
i i i = b i i | : | ! i = ! i i i
AINALIE € b URINE ey | € MUAUIIA
8 8 8 iy 8 8 8 8 8 i 6 8 8 8
: : : Il : |||||III:III||||| ; : ; : : :
i i i 0.95L i i : i i 0.95 | i A i
0 2 4 6 =6 -4 -2 0 2 4 6 -2 0 2 4 6
y y y
[ RecoPVAssoc2GenPVMatched_PullZ [ RecoAllAssoc2GenMatched_PullZ [ RecoAllAssoc2GenMatchedMerged_PullZ
RETUT] oc2Gen! aiched Pu —RET enMatched Pullz rssoc2GenMaichedMergped_|
Std Dev 1.06 N Std Dev 0.9957 1) 10*1 Std Dev -
E Constant 0.07409 — : : : Constant 0.07961 ) Constant
- Mean -0.03751 - . . . Mean -0.008414
5 107t Sigma 1.061 g 107 [ [~ T Sigma 0.9992 g
w . . > E . . . )
'Assoc2GenPVMaiched Pu o r : : : ed Pull: >
J:‘ Std Dev 1.06 N . . . Std Dev 0.9957 S
o Constant 0.07409 . . . Constant 0.07961 o]
= Mean -0.03751 o . . . -0.008414 D4 ~-2
= Sigma, 1.06. : . : 0.999: 6 10
2107 1072 b £
E : S
o : =2
o . N
L N =
H 2103
-3 -3 Y SO R U VO =10
10 107 h g
_ - : : : -4
10 O e R AR AARALE CALLAALD 10
o 1.V0 N ] ] ] N o J..UJ-I | L o 1.V N ] ] N
g b BRI g b g F 5 A
o L i i i : o L : @ L : ] i i :
i i AT . h-e-ee- R T LTI TR R TR T eeeee R 1i1? : A1
A J J H 0.95L H 0.95L H Ll J I H
-2 0 2 4 6 =6 -4 6 6 -4 -2 0 2 4 6
z z z



	Contents
	Page 1


